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@ complete Was conmplete Box not complete
Rewcs= 6.8851 ohms Was = 44,2653 L [ 1l.5632 ££~3) Fsbh = 0.0000 Hz
Funs = 29.9530 H= Diam= 145.0000 mm | 5.7087 in ) alpha= 1.0000
Qes = 0.3546 8d = 16512.9956 mm*2( 25.5952 in*2) Ha = 0.0000
Qns = 5.6568 BL = 9.501a N/& Fu = 0.0000 Hz
Qts = 0.3338 Cmzs = 1142.7404 un/N Nloss=3333.3333
Zmax= 117.3007 ohns Ems = 875.08%94 N/m
Le = 0.3663 nH Mus = 24,7066 g Wh =99939_0000 L
Sens= §7.0039 dABE1T/1lm Wb =3531.4314 £t2
Eff = 0.3152 %
Bus = 0.8176 ohm= Waz Test Complete::Norn
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